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Time : 3Hrs. Sem - III/ C. E.   
Mechanical Opr.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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With a neat sketch, explain the construction and 

working of a plate and frame filter press.

working of a crushing roll.

feed of size equivalent is 38 mm spheres and crush 

to 12.7 mm ? The coefficient of friction is 0.35.

8.

6
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

Shape factor for a cylinder whose length 

equals its diameter is :

(a) 1.5

(b) 0.5

(c) 1

(d) None of these

The opening of 200 mesh screen (Taylor 

series) is :

(a) 0.0074 cm

(b) 0.0074 mm

(c) 0.0047 cm

(d) None of these

7.

6
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                 GROUP  - C

6 x 5 = 30
Answer all Five Questions.

With a neat sketch describe the construction and 

working of a ball mill ?
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(iii)

(iv)

(iii)

(ii)

6.

by ............. filter.

(a) Open sand

(b) Plate and frame

(c) Vaccum leaf

(d) Sparkler

maximum capacity.

(a) Grizzles

(b) Trommels

(c) Shaking screen

(d) Vibrating screen
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4

4

5.

P.T.O

3

OR

Define the term is differential analysis and 

commutative analysis.?

Draw a neat sketch of Rotary drum filter.

mixing.
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(iv)

(v)

(v)

(vi)

OR

 (a) Coarse

(b) Intermediate

(c) Fine

(d) Ultrafine

(a) Leaf

(b) Press

(c) Rotary

(d) Sand

1614304

4

4

3.

4.
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Give the classification of size reduction machines.

its parts.

Explain Ritinger's law & Kick's law.

of nip, feed size, gap between rolls and diameter of 

rolls.

NT3012NT3012
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(vii)

(vii)

(viii)

(vi)(xx)

Which one is a filter aid ?

(a) Canvas fabric

(b) Diatomaceous earth

(c) Calsied lime

(d) None of these

mm in size.

(a) 1 mm

(b) 50 mm

(c) 500 mm

(d) 1400 mm

1614304

P.T.O

Answer all Five Questions.
4 x 5 = 20

Explain the various methods of size reduction ?2.

4
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(viii)

(ix)

(ix)

constant pressure filteration is a ......

(a) Straight line

(b) Perabola

(c) Hyperbola

(d) Exponential curve

Which of the following has the minimum 

Rittingers number ?

(a) Galana

(b) Pyrites

(c) Calcite

(d) Quartz

jaws is usually-
0

(a) 5
0

(b) 15
0

(c) 30
0

(d) 90

crusher-

(a) Hammer crusher

(b) Ball crusher

(c) Jaw crusher

(d) Gyratory crusher

1614304

(x)

(xviii)

(xix)

(xx)

(xix)
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Size reduction of ice is done by-

(a) Stamp mill

(b) Ball mill

(c) Ring roll mill

(d) Toothed roll crusher

method is used.

(a) Impact

(b) Attrition

(c) Compression

(d) Cutting

 

incompressible cake is?
(a) 1
(b) 0
(c) -1

(d) ¥

-1
(a) M

-1
(b) ML

-1
(c) M L

-1
(d) L

(xi)

(xi)

(xii)

(x)

1614304

(xvii)

(xvii)

(xviii)

(xvi)
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Kick's law relates to -

(a) Energy consumption

(b) Final particle size

(c) Feed size

(d) None of these

densities are known as -

(a) Thickner

(b) Cyclones

(c) Filter

(d) Both (a) & (b)

Mesh indicates the number of holes per........ 

(a) Square inch

(b) Linear inch

(c) Square foot

(d) Linear foot

cause air adherence is called............

(a) Collector

(b) Prother

(c) Modifier

(d) Activator

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)

1614304

(xvi)
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Describe the principle and working of a electrostatic 

precipitator :

Describe the distribution of overall pressure drop in

filteration process

one mixer for liquid . Liquid mixing. ?

working of hammer mill.

OR

OR

6

6

9.

10.

P.T.O

Describe the principle and working of a electrostatic 

precipitator :

Describe the distribution of overall pressure drop in

filteration process

one mixer for liquid . Liquid mixing. ?

working of hammer mill.

OR

OR

6

6

9.

10.
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Derive an expression to estimate the size of the 

smallest particle that can be separated in a cyclone 

separator.

(a) Floatation

(b) Particle size measurement technique

(c) Sedimentation

OR

11.

6

***

Derive an expression to estimate the size of the 

smallest particle that can be separated in a cyclone 

separator.

(a) Floatation

(b) Particle size measurement technique

(c) Sedimentation

OR

11.

6

***
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